Precipitation #1
You, Ron, Hermonie, and Harry are talking in the Gryffindor common room about the opening of the Chamber of Secrets.  You are fairly certain that Draco is responsible for the strange happenings at Hogwarts, but you need to get proof to tell Professor Dumbledore.  You decide to make Polyjuice potion to spy on Draco.  The potion contains sodium sulfate.  You are about to add potassium nitrate.  Harry is about to add sodium phosphate.  Hermonie is about to add lithium fluoride, and Ron is about to add calcium chloride.  The potion will only work if all the ingredients are soluble and no precipitate is formed.  Everyone takes their potion, but one person changes into a mouse, instead of disguising themselves as a Slytherin wizard.  Who will become the mouse? (Hurry and stop them from messing up the potion before they get petrified!)
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